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ÍÛæ̃ Û¶ÛÛ :   þùÁéõïõ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä̈ Û ÍÛÁõ”ÛÛ ™öé.  
Instruction : All questions carry equal marks. 
 

1. ¶Ûà˜Ûé¶Ûà ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà ¦øÛñ. ÍÛ¾ÛàÁõ¶Ûà µÛ×µÛÛ-ÈýÛÈÛÍÛÛýÛ¶ÛÛ ¶ÛºõÛ ïéõ ÅÛÛ½Û¶ÛÛ ¾Û¬ÛÛÇÛ Ðéü¥øÇ ïõÁõ¸ÛÛªÛ …ÛÈÛïõ¶Ûà 
…ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2013-14 ¾ÛÛ¤éø •Û¨Û©ÛÁõà ïõÁõÛé : 14 

…ÛÈÛïõ-›ÛÈÛïõ ”ÛÛ©Ûä× ©ÛÛ. 31-03-2013¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø 

…ÛÈÛïõ `̀̀̀ ›ÛÈÛïõ `̀̀̀ 

¼ÛÛïõà …Û•ÛÇ ÅÛÛÈýÛÛ 40,000 ÐüÛéÜÍ¸Û¤øÅÛ ½ÛÛ¦ä×ø 90,000 

ïõ¶ÍÛÝÅ¤ø•Û ºõà  3,40,000 …é¦øÈÛÛ¶ÍÛ …ÛÈÛïõÈÛéÁõÛé 15,000 

ÜÈÛÜ¡ö¤ø ºõà 82,000 ¾ÛéÜ¦øïõÅÛ ¾Ûé•Ûé¡öà¶ÛÛé¶Ûà ”ÛÁõàþùà  10,000 

…Ûȩ́ ÛÁéõÉÛ¶Û Ü¬ÛýÛé¤øÁõ¶Ûà …ÛÈÛïõ 1,20,000 ÈÛà›÷Çà ˜ÛÛ›÷Ù 80,000 

ÉÛéÁõÛé¶Ûä× ÈÛé̃ ÛÛ¨Û 

¾ÛÇéÅÛ Ü¦øÜÈÛ¦ø¶¦ø 

20,000 

15,000 

ÍÛœ÷ÙïõÅÛ ÍÛÛµÛ¶ÛÛé¶Ûà ”ÛÁõàþùà  (1-9-12) 

¾ÛÛé¤øÁõ•ÛÛ¦øà ”Û˜ÛÙ  

2,00,000 

24,000 

ÁõÛéïõÛ¨ÛÛé ¸ÛÁõ ¾ÛÇéÅÛ ÈýÛÛ›÷    10,000 þùÈÛÛ¶Ûà ”ÛÁõàþùà  1,72,000 

þùÈÛÛ…Ûé¶Ûä× ÈÛé̃ ÛÛ¨Û 1,30,000 Í¤øÛºõ¶ÛÛé ¸Û•ÛÛÁõ  2,00,000 

ÍÛœ÷ÙïõÅÛ ÍÛÛµÛ¶ÛÛé¶Ûä× ÈÛé̃ ÛÛ¨Û  

¾ÛïõÛ¶Û ½ÛÛ¦øÛ¶Ûà …ÛÈÛïõ 

þùþùâ…Ûé ¸ÛÛÍÛé¬Ûà ½Ûé¤ø 

25,000 

18,000 

26,000 

Š¸ÛÛ¦ø 

¼ÛÛïõà …Û•ÛÇ ÅÛˆ •ÛýÛÛ  

20,000 

15,000 

 8,26,000  8,26,000 

 ÈÛµÛÛÁõÛ¶Ûà ¾ÛÛÜÐü©Ûà : 

 (1) 1/4 ¾ÛÛé¤øÁõïõÛÁõ ”Û˜ÛÙ ÈýÛÜî©Û•Û©Û ÈÛ¸ÛÁõÛÉÛ¶ÛÛ Ðéü©Ûä ¾ÛÛ¤éø ™öé. ¾ÛÛé¤øÁõïõÛÁõ ¸ÛÁõ ¾ÛÇÈÛÛ¸ÛÛªÛ –ÛÍÛÛÁõÛé       
` 15,000 ™öé.  

 (2) þùÈÛÛ…Ûé¶ÛÛé ÉÛÄõ…Û©Û¶ÛÛé Í¤øÛéïõ …¶Ûé …Û”ÛÁõ¶ÛÛé Í¤øÛéïõ …¶Ûä’õ¾Ûé ` 40,000 …¶Ûé ` 18,000 ™öé.  

 (3) ÍÛœ÷ÙïõÅÛ ÍÛÛµÛ¶ÛÛé¶Ûà ÉÛÄõ…Û©Û¶Ûà –ÛÍÛÛÁõÛ¼ÛÛþù Ýïõ¾Û©Û ` 75,000 Ðü©Ûà. ¾Û×›æ÷Áõ ïõÁéõÅÛ –ÛÍÛÛÁõÛ¶ÛÛé þùÁõ 
20% ™öé.  
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 From the following, compute taxable income of Dr. Samir under the head of profit & 

gains of business and profession for the assessment year 2013-14 : 

Receipt and Payment A/c as year ending on 31-03-2013 

Receipts `̀̀̀ Payments `̀̀̀ 

To Balance b/d 40,000 By Hospital Rent 90,000 

To Consulting fees 3,40,000 By Advance Income Tax 15,000 

To Visiting fees 82,000 By Purchase of Medical Magazines 10,000 

To Operation theatre income 1,20,000 By Electric charges 80,000 

To Sale of shares 

To Dividend received 

20,000 

15,000 

By Purchase of Surgical  

     equipments (1-9-12) 

  

2,00,000 

To Interest received on  

     investments 

         

10,000 

By Motor car expenses 

By Purchase of Medicine  

24,000 

1,72,000 

To Sale of medicines 1,30,000 By Staff salaries 2,00,000 

To Sale of surgical  

     equipments 

        

25,000 

By Drawings 

By Balance c/d 

20,000 

15,000 

To Income from house rent 18,000   

To Gift from patients 26,000   

 8,26,000  8,26,000 

 Additional Information : 
 (1) 1/4

th
 use of motor car is for personal purpose. The admissible depreciation on 

motor car is ` 15,000. 
 (2) The opening and closing stock of medicine are ` 40,000 and ` 18,000 respectively. 
 (3) The opening balance of surgical equipment after depreciation were ` 75,000. 

Allowable depreciation is at 20%. 

…¬ÛÈÛÛ/OR 

1. (A) ËÛà ïõÛíéÉÛÅÛ ©ÛÛ. 31 ¾Ûà ¾ÛÛ˜ÛÙ 2013¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø ©Ûé¶ÛÛ µÛ×µÛÛ …×•Ûé ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà 
¸ÛæÁõà ¸ÛÛ¦éø ™öé : 7 

¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä× ©ÛÛ. 31-3-2013¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ¶Ûä× 
ÜÈÛ•Û©Û `̀̀̀ ÜÈÛ•Û©Û `̀̀̀ 

…ÛéÜºõÍÛ ¸Û•ÛÛÁõ  72,000 ïõÛ˜ÛÛé ¶ÛºõÛé  2,48,000 

¼Ûêïõ ÅÛÛé¶Û ¸ÛÁõ ÈýÛÛ›÷ 
–ÛÍÛÛÁõÛé 

14,000           

10,000 
ÍÛÁõïõÛÁõà ›Û¾Ûà¶Û•ÛàÁõà ¸ÛÁõ 
ÈýÛÛ›÷ 

        

13,000 

¾Ûæ¦øà ¸ÛÁõ ÈýÛÛ›÷  4,000 …ÛÈÛïõÈÛéÁõÛ Áõàº×õ¦ø 9,000 

þùÛ¶Û 6,000   

½ÛÛ¦ä×ø, ïõÁõÈÛéÁõÛ, ÈÛà¾ÛÛé  23,000   

ÈÛÐüàÈÛ¤øà ”Û˜ÛÛÙ  41,000   

…ÛÈÛïõÈÛéÁõÛé 15,000   

ïõÛé¾¸ýÛä¤øÁõ¶Ûà ”ÛÁõàþùà  
(1-1-2013) 

             

24,000 

  

–ÛÛÅÛ”ÛÛµÛ …¶ÛÛ¾Û©Û  4,000   

–ÛÛÅÛ”ÛÛµÛ 2,000   

…ÛéÜ¦ø¤ø ºõà 5,000   

˜ÛÛé””ÛÛé ¶ÛºõÛé  50,000   

 2,70,000  2,70,000 
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  …¶ýÛ ¾ÛÛÜÐü©Ûà : 
  (1) ÈÛà¾ÛÛ ¸ÛóàÜ¾ÛýÛ¾Û¶Ûà Áõïõ¾Û¾ÛÛ× ` 3,000 œ÷ÈÛ¶ÛÈÛà¾ÛÛ ¸ÛóàÜ¾ÛýÛ¾Û¶ÛÛ ÍÛ¾ÛÛýÛéÅÛÛ ™öé.  
  (2) ïõÛé¾¸ýÛä¤øÁõ¶Ûà ”ÛÁõàþùà ¸ÛÁõ 10% –ÛÍÛÛÁõÛé •Û¨ÛÈÛÛ¶ÛÛé ™öé.  
  ¶ÛÛ¨ÛÛïõàýÛ ÈÛÌÛÙ 2012-13 ¾ÛÛ¤éø µÛ×µÛÛ¶Ûà ïõÁõ¸ÛÛªÛ …ÛÈÛïõ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé.  
 

  Shri Kaushal furnishes the following details for his business for the year ended           

31
st
 March, 2013 :  

Profit & Loss A/c for the year ended 31-3-2013 

Receipts `̀̀̀ Payments `̀̀̀ 

To Office Salary 72,000 By Gross profit 2,48,000 

To Interest paid on bank loan 

To Depreciation 

14,000           

10,000 

By Interest on Government  

      Securities  

        

13,000 

To Interest on capital 4,000 By Income tax refund 9,000 

To Donation 6,000   

To Rent-tax-insurance 23,000   

To Administrative expenses 41,000   

To Income tax 15,000   

To Purchase of computer 

(1-1-2013) 

             

24,000 

  

To Bad debts reserve 4,000   

To Bad debts 2,000   

To Audit fees 5,000   

To Net profit 50,000   

 2,70,000  2,70,000 

  Other information : 

  (1) Insurance premium includes ` 3,000 for Life Insurance Premium. 

  (2) Calculate 10% depreciation on purchase of computer. 

  Calculate the taxable income of business for the financial year 2012-13. 

 

 (B) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛé̂ ¸Û¨Û ¼Ûé ¶ÛÛ Š«ÛÁõÛé ÅÛ”ÛÛé : 4 

  (1) ¶Ûà˜Ûé …Û¸ÛéÅÛà ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà …ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2013-14 ¾ÛÛ¤éø ¾Û›÷Áéõ ¾ÛÇÈÛÛ¸ÛÛªÛ ïäõÅÛ         
–ÛÍÛÛÁõÛ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé :  
  `̀̀̀ 

(A) ¸ÅÛÛ¶¤ø-ýÛ×ªÛÛé¶Ûà 1-4-2012¶ÛÛ ÁõÛé›÷¶Ûà –ÛÍÛÛÁõÛ¼ÛÛþù Ýïõ¾Û©Û  4,00,000 

(B) ©ÛÛ. 1-2-2013¶ÛÛ ÁõÛé›÷ ”ÛÁõàþéùÅÛ ¶ÛÈÛÛ× ¸ÅÛÛ¶¤ø-ýÛ×ªÛÛé 60,000 

(C) 31-12-2012 ¶ÛÛ ÁõÛé›÷ ›æ÷¶Ûä× ýÛ×ªÛ ÈÛé̃ ÛéÅÛ (›÷é¶ÛÛ ¸ÛÁõ –ÛÍÛÛÁõÛ¶ÛÛé þùÁõ 
20%)  

  

1,10,000 

(D) ¸ÅÛÛ¶¤ø …¶Ûé ¾ÛÉÛà¶ÛÁõà ¸ÛÁõ –ÛÍÛÛÁõÛ¶ÛÛé þùÁõ 20% ™öé.   

  (2) …ÍÛ¾ÛÛÜÈÛÌ¤ø –ÛÍÛÛÁõÛ …×•Ûé …ÛÈÛïõÈÛéÁõÛ¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé ›÷¨ÛÛÈÛÛé.  
  (3) …•ÛÛŠ ¾Û×›æ÷Áõ ïõÁéõÅÛ …¶Ûé ¾Û×›æ÷Áõ ¶ÛÜÐü ¬ÛýÛéÅÛ –ÛÛÅÛ”ÛÛµÛ ÈÛÍÛæÅÛÛ©Û¶Ûà …ÛÈÛïõÈÛéÁõÛ¶Ûà 

›Ûé•ÛÈÛÛˆ…Ûé ÍÛ¾Û›ÛÈÛÛé. 
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  Write any two answers from the following :  

  (1) Calculate the total depreciation admissible for the assessment year 2013-14 

from the following particulars. 

  `̀̀̀ 

(A) The written down value of Plant-Machinery as on 1-4-2012. 4,00,000 

(B) New Plant & Machinery is purchased on 1-2-2013. 60,000 

(C) On 31-12-2012 an old machinery was sold (depreciation on 

it’s at 20%) for 

  

1,10,000 

(D) The rate of depreciation on Plant & Machinery at 20%  

  (2) State the provisions of Income-Tax regarding unabsorbed depreciation. 

  (3) Explain the provisions of Income-Tax relating to recovery of bad debts 

allowed and not allowed in earlier previous year. 

 

 (C) ïõÛé̂ ¸Û¨Û ¼Ûé¶ÛÛ ¾ÛÛ•ýÛÛ ¸Ûó¾ÛÛ¨Ûé ›÷ÈÛÛ¼Û …Û¸ÛÛé  ƒ 3 

  (1) ¶Ûà˜Ûé¶ÛÛ ”Û˜ÛÛÙ µÛ×µÛÛ¶Ûà …ÛÈÛïõ ÍÛÛ¾Ûé ¾Û›÷Áéõ ¾ÛÇÈÛÛ¸ÛÛªÛ ™öé ïéõ ¶ÛÜÐü ©Ûé ›÷¨ÛÛÈÛÛé :  

   (A) ¶ÛÛéïõÁõà¶ÛÛ ïõÛ¾ÛïõÛ›÷¶ÛÛ ïõÅÛÛïõÛé þùÁõ¾ýÛÛ¶Û ïõÛ¾ÛþùÛÁõ¶Ûé ¬ÛýÛéÅÛ …ïõÍ¾ÛÛ©Û ¼ÛþùÅÛ ˜ÛæïõÈÛéÅÛ 
ÈÛÇ©ÛÁõ  

   (B) µÛ×µÛÛ¾ÛÛ×¬Ûà ˜ÛæïõÈÛéÅÛ ¸Û©¶Ûà¶Ûä× ÐüÛéÜÍ¸Û¤øÅÛ Ü¼ÛÅÛ.  

   (C) ¾ÛÛ¶ýÛ ¸ÛóÛéÜÈÛ¦ø¶¤ø º×õ¦ø¾ÛÛ× ¾ÛÛÜÅÛïõ¶ÛÛé ºõÛÇÛé.  

  (2) µÛ×µÛÛ-ÈýÛÈÛÍÛÛýÛ¶Ûà ïõÁõ¸ÛÛªÛ …ÛÈÛïõ •Û¨Û©Ûà ÈÛ”Û©Ûé ïõ¸ÛÛ©Û ©ÛÁõàïéõ ¼ÛÛþù ¶Û ¾ÛÇ©ÛÛ ïõÛé̂ ¸Û¨Û ªÛ¨Û 
”Û˜ÛÛÙ…Ûé ÅÛ”ÛÛé.  

  (3) ÍÛaøÛ¶ÛÛ µÛ×µÛÛ¶Ûà ”ÛÛé¤ø …×•Ûé ïõÛýÛþùÛ¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé ›÷¨ÛÛÈÛÛé.  

  Give any two answers as directed.  

  (1) State, whether the following expenses are admissible or not against business 

income.  

   (A) Paid compensation to an employee for accident during the working 

hours of service. 

   (B) Paid Wife’s hospital bills from the business. 

   (C) Owner’s contribution for recognized Provident Fund. 

  (2) Write any three expenses which are not allowed as deduction while 

calculating taxable income of the business profession. 

  (3) State the provisions of the Act regarding loss on speculation business. 
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2. (A) ËÛà ¼Û¼ÛÅÛä¶Ûà ¶Ûà˜Ûé …Û¸ÛéÅÛ ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà …ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2013-14 ¾ÛÛ¤éø ©Ûé¾Û¶Ûà ¾Ûæ¦øà-¶ÛºõÛ¶ÛÛ 
¾Û¬ÛÛÇÛ Ðéü¥øÇ ïõÁõ¸ÛÛªÛ …ÛÈÛïõ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé ƒ 7  

   ©Ûé̈ Ûé ©ÛÛ. 1-8-2012¶ÛÛ ÁõÛé›÷ ©Ûé¾Û¶Ûà …×•Û©Û ¾ÛÛÜÅÛïõà¶ÛÛ ÁõÐéü¥øÛ¨Û¶Ûä× ¾ÛïõÛ¶Û ` 26,20,000 ¾ÛÛ× 
ÈÛé̃ ýÛä× Ðü©Ûä× …¶Ûé þùÅÛÛÅÛà ”Û˜ÛÙ¶ÛÛ ` 20,000 ˜ÛæïõÈýÛÛ Ðü©ÛÛ. …Û ¾ÛïõÛ¶Û 1978-79¾ÛÛ× ` 1,50,000 ¾ÛÛ× 
”ÛÁõà²ä× Ðü©Ûä×. …Û ¾ÛïõÛ¶Û¶Ûà ÈÛÛ›÷¼Ûà Ýïõ¾Û©Û÷ 1-4-1981¾ÛÛ× ` 2,00,000 Ðü©Ûà. …Û ÜÍÛÈÛÛýÛ ©Ûé¾Û¶Ûà 
¸ÛÛÍÛé …×•Û©Û ¾ÛÛÜÅÛïõà¶Ûä× ïõÛé̂  ¾ÛïõÛ¶Û ¶Û Ðü©Ûä×. ÈÛÌÛÙ 2007-08¾ÛÛ× ©Ûé¾Û¨Ûé ` 1,10,200 ¶ÛÛé ÈÛµÛÛÁõÛ¶ÛÛ 
¼ÛÛ×µÛïõÛ¾Û¶ÛÛé ”Û˜ÛÙ ïõýÛÛë Ðü©ÛÛé. ©ÛÛ. 31-12-2012¶ÛÛ ÁõÛé›÷ ÁõÐéü¥øÛ¨Û¶ÛÛ Ðéü©Ûä ¾ÛÛ¤éø ¶ÛÈÛä× ¾ÛïõÛ¶Û         
` 8,50,000 ¾ÛÛ× ”ÛÁõà²ä× Ðü©Ûä×.  

   ©ÛþÕùŠ¸ÛÁõÛ×©Û ©ÛÛ. 1-9-2010 ¾ÛÛ× ` 25,280 ¾ÛÛ× ”ÛÁõàþéùÅÛ ÍÛÁõïõÛÁõà ›Û¾Ûà¶Û•ÛàÁõà…Ûé         
©ÛÛ. 31-12-2013¶ÛÛ ÁõÛé›÷ ` 2,50,000¾ÛÛ× ÈÛé̃ Ûà þùàµÛà. ©Ûé ›÷ ©ÛÛÁõà”Ûé ¾ÛÇéÅÛ Áõïõ¾Û¾ÛÛ×¬Ûà           
` 2,00,000 ¶ÛéÉÛ¶ÛÅÛ ÐüÛˆÈÛé …Ûé¬ÛÛéÁõà¤øà …Ûéºõ ˆÜ¶¦øýÛÛ¶ÛÛ 3 ÈÛÌÛâýÛ ¼ÛÛé¶¦ø¾ÛÛ× ÁõÛéïõà þùàµÛà.  

   ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶ÛÛ ¾Ûæ¦øà ¶ÛºõÛ¶Ûà •Û¨Û©ÛÁõà ¾ÛÛ¤éø¶ÛÛé ÍÛ×¼Û×ÜµÛ©Û ÍÛæ̃ Ûïõ…Û×ïõ ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé : 

ÈÛÌÛÙ  ÍÛæ̃ Ûïõ…Û×ïõ ÈÛÌÛÙ  ÍÛæ̃ Ûïõ…Û×ïõ  

1981-82 100 2009-10 632 

2007-08 551 2012-13 852 

  From the following particulars of Shri Bablu. Calculate the taxable inome under the 

heading of ‘Capital gains’ for the assessment year 2013-14. 

   He sold his own residential house for ` 26,20,000 on 1-8-2012 and paid           

` 20,000 for brokerage expenses. This house was purchased for ` 1,50,000 in        

1978-79. The fair value of this house on 1-4-1981 was ` 2,00,000. He has no 

another residential house except this. He has made additional construction cost of      

` 1,10,200 in the year 2007-08. On 31-12-2012, he has purchased new residential 

house for ` 8,50,000. 

   On above, on 31-12-2013 the government securities were sold at ` 2,50,000, 

which was purchased at ` 25,280 on 1-9-2010. Out of received amount, ` 2,00,000 

was invested in three years bonds of National Highway Authority of India in that 

date.  

  The related Index Numbers for the calculation of Long term capital gains are as 

under : 

Year Index No. Year Index No. 

1981-82 100 2009-10 632 

2007-08 551 2012-13 852 

…¬ÛÈÛÛ/OR 
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2. (A) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ËÛà ¾ÛÛéÜÐü©Û¶Ûà ¶ÛÛ¨ÛÛïõàýÛ ÈÛÌÛÙ 2012-13 ¾ÛÛ¤éø “…¶ýÛ ÍÛÛµÛ¶ÛÛé¶Ûà …ÛÈÛïõ” 

¶ÛÛ ÉÛàÌÛÙïõ Ðéü¥øÇ ¬Û©Ûà ïõÁõ¸ÛÛªÛ …ÛÈÛïõ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé :  7 
   

                  `̀̀̀ 

(1) ½ÛÛÁõ©ÛàýÛ ï×õ¸Û¶Ûà¶ÛÛ 10% ¸ÛóéºõÁõ¶ÍÛ ÉÛéÁõÛé ¸ÛÁõ ¾ÛÇéÅÛ Ü¦øÜÈÛ¦ø¶¦ø    20,000 

(2) ¼Ûêïõ¶Ûà ¼ÛÛ×µÛà ¾Ûäþù©Û¶Ûà ¬ÛÛ¸Û¨ÛÛé ¸ÛÁõ ¾ÛÇéÅÛ ÈýÛÛ›÷  8,600 

(3) 7% ïéõÜ¸Û¤øÅÛ ˆ¶ÈÛéÍ¤ø¾Ûé¶¤ø ¼ÛÛé¶¦ø ¸ÛÁõ ÈýÛÛ›÷  6,000 

(4) ¸Ûé¤øÛ ½ÛÛ¦äø…Û©Û ¸ÛÛÍÛé¬Ûà ½ÛÛ¦øÛ¶Ûà …ÛÈÛïõ  12,000 

(5) –ÛÛé¦øþùÛé¦ø¶Ûà ¾ÛÇéÅÛ ˜ÛÛé””Ûà Áõïõ¾Û (T.D.S. 30%) 1,40,000 

(6) ÜÈÛþéùÉÛà ï×õ¸Û¶Ûà…Ûé¶ÛÛ ÉÛéÁõÛé ¸ÛÁõ ¾ÛÇéÅÛ Ü¦øÜÈÛ¦ø¶¦ø 8,400 

(7) 10% ¶ÛÛ Áõà¾ÛÛ ÜÅÛÜ¾Û¤éø¦ø¶ÛÛ ïõÁõ¾Ûäî©Û Ü¦ø¼Ûé¶˜ÛÁõ ¸ÛÁõ ¾ÛÇéÅÛ ÈýÛÛ›÷  
(TDS 10%) 

          

27,000 

(8) ¸ÛÜ¼ÅÛïõ ¸ÛóÛéÜÈÛ¦ø¶¤ø º×õ¦ø ”ÛÛ©ÛÛ¾ÛÛ× ›÷¾ÛÛ ¬ÛýÛéÅÛ ÈýÛÛ›÷  5,400 

(9) ¾ÛÇéÅÛ ºéõÜ¾ÛÅÛà ¸Ûé¶ÉÛ¶Û 90,000 

(10) ýÛäÜ¶Û¤ø ¤ÖøÍ¤ø …Ûéºõ ˆÜ¶¦øýÛÛ¶ÛÛ ýÛäÜ¶Û¤ø¾ÛÛ×¬Ûà ¾ÛÇéÅÛ Ü¦øÜÈÛ¦ø¶¦ø  2,000 

 

  ½ÛÛÁõ©ÛàýÛ ï×õ¸Û¶Ûà¶ÛÛ ÉÛéÁõÛé ”ÛÁõàþùÈÛÛ ¾ÛÛ¤éø ÅÛàµÛéÅÛ ¼Ûêïõ ÅÛÛé¶Û ¸ÛÁõ ` 6,500 ÈýÛÛ›÷ ˜ÛæïõÈÛéÅÛ Ðü©Ûä×. ÈýÛÛ›÷ 
Š–ÛÁõÛÈÛÈÛÛ ¾ÛÛ¤éø ` 450 ¼Ûêïõ ïõÜ¾ÛÉÛ¶Û¶ÛÛ ˜ÛæïõÈýÛÛ Ðü©ÛÛ.  

  From the following information of Shri Mohit, Compute taxable income under the 

head of “Income from other sources” for the financial year 2012-13. 

   

          `̀̀̀ 

(1) Dividend received on 10% Preference Shares on Indian 

Companies 

            

20,000 

(2) Interest received on fixed deposit at Bank 8,600 

(3) Interest on 7% Capital Investment Bond 6,000 

(4) Income of rent from sub-tenant 12,000 

(5) Net income received on horse-race (T.D.S. 30%) 1,40,000 

(6) Dividend received on shares of foreign companies 8,400 

(7) Interest received on 10% tax free debentures of Rima Ltd. 

(TDS 10%) 

          

27,000 

(8) Interest credited in Public Provident Fund account. 5,400 

(9) Received family pension 90,000 

(10) Dividend received on the units of Unit Trust of India 2,000 
 

  He has paid interest of ` 6,500 on bank loan taken for purchasing shares of Indian 

companies. Bank Commission of ` 450 was paid for the collection of interest. 
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 (B) ïõÛé̂ ¸Û¨Û ¼Ûé¶ÛÛ Š«ÛÁõÛé ÅÛ”ÛÛé : 4 

  (1) Ü¾Û. ïõÛÈýÛÛ…é ÈÛÌÛÙ 2004-05 þùÁõÜ¾ÛýÛÛ¶Û 600 ˆÜîÈÛ¤øà ÉÛéÁõ þùÁéõïõ ` 120 ¶ÛÛ ½ÛÛÈÛé ”ÛÁõà²Û 
Ðü©ÛÛ. ©Ûé̈ Ûà…é 2008-09¶ÛÛ ÈÛÌÛÙ þùÁõÜ¾ÛýÛÛ¶Û 2 ÉÛéÁõþùà¥ø 1 ¶ÛÛ µÛÛéÁõ¨Ûé Ðü‘õ¶ÛÛ ÉÛéÁõ ` 291 ¶ÛÛ 
½ÛÛÈÛé ÉÛéÁõþùà¥ø ”ÛÁõà²Û. ©ÛÛ. 31-12-2012¶ÛÛ ÁõÛé›÷ …Û ¼ÛµÛÛ ›÷ ÉÛéÁõÛé ÉÛéÁõþùà¥ø ` 340 ¶ÛÛ 
½ÛÛÈÛé ÈÛé̃ Ûà þùàµÛÛ. Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ›÷ ÉÛéÁõÛé ÜÍÛîýÛäÁõà¤øà ¤ÖøÛ¶¡éöîÉÛ¶Û¶Ûé ¸ÛÛªÛ ¶Û¬Ûà. þùÅÛÛÅÛà        
` 6,000 ˜ÛæïõÈÛéÅÛ ™öé. 

   ÍÛæ̃ Ûïõ…Û×ïõ : 2004-05 – 480, 2008-09 – 582 …¶Ûé 2012-13 – 852. 

    ïõÁõ¸ÛÛªÛ ¾Ûæ¦øà ¶ÛºõÛ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé.  

  (2) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ …ÛÈÛïõÛé “…¶ýÛ ÍÛÛµÛ¶ÛÛé¶Ûà …ÛÈÛïõ” Ðéü¥øÇ ïõÁõ¸ÛÛªÛ •Û¨ÛÛýÛ ™öé : 

   (A) ”ÛäÅÛÛÍÛÛ ÈÛ•ÛÁõ¶ÛÛ× ÁõÛéïõÛ¨ÛÛé¾ÛÛ×¬Ûà ¾ÛÇéÅÛ …ÛÈÛïõ ` 50,000. 

   (B) ï×õ¸Û¶Ûà¶ÛÛ ÍÛ×̃ ÛÛÅÛïõ ©ÛÁõàïéõ ¾ÛÇéÅÛ Ü¦øÁéõî¤øÁõ¶Ûà ºõà ` 10,000. 

   (C) ¤Öéø¡öÁõà ÍÛéÝÈÛ•ÍÛ ÍÛ¤øâÜºõïéõ¤ø ¸ÛÁõ ÈýÛÛ›÷ ` 7,000. 

  (3) ‘•ÛóÛéÝÍÛ•Û …¸Û’¶ÛÛé (Grossing up) …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé. 
  Write any two answers :  

  (1) Miss Kavya had purchased 600 equity shares of ` 120 each during the year 

2004-05. During the year 2008-09, she has purchased right shares on the basis 

of 1 share against 2 shares held at ` 291 per share. On 31-12-2012, all these 

shares were sold at ` 340 per share. All the above shares are not taxable under 

securities transactions tax. Brokerage is paid ` 6,000. The Index Numbers 

2004-05 – 480, 2008-09 – 582 and 2012-13 – 852. 

    Compute taxable capital profit. 

  (2) Which of the following income is taxable under the heading of “Income from 

other sources”. 

   (A) Received income from unexplained investments ` 50,000. 

   (B) Director fees received as a director of a company ` 10,000. 

   (C) Interest on Treasury Savings Certificates ` 7,000. 

  (3) Explain the meaning of ‘Grossing up’. 

 

 (C) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ºõî©Û ¼Ûé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 3 

  (1) ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶ÛÛé ¾Ûæ¦øà¶ÛºõÛé …é¤øÅÛé ÉÛä× ? 

  (2) ÍÛ×̧ Ûæ̈ ÛÙ ïõÁõ¾Ûäî©Û ÍÛÁõïõÛÁõà ›Û¾Ûà¶Û•ÛàÁõà…Ûé¶ÛÛ× ªÛ¨Û ŠþùÛÐüÁõ¨ÛÛé …Û¸ÛÛé.  

  (3) ¾Ûæ¦øà ”ÛÛé¤ø ¾ÛÛ×¦øà ÈÛÛÇÈÛÛ …¶Ûé …Û•ÛÇ ”Ûễ Ûà ›÷ÈÛÛ …×•Ûé …ÛÈÛïõÈÛéÁõÛ¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé ›÷¨ÛÛÈÛÛé. 
  Give any two answers in short of the following :  

  (1) What is meant by Long term Capital gain ? 

  (2) Give three illustrations of fully exempted (tax free) Government Securities. 

  (3) State the provisions of Income Tax relating to set-off and carry forward for 

capital loss. 
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3. (A) ¸ÛÛ™öÅÛÛ ÈÛÌÛÙ 2012-13 þùÁõÜ¾ÛýÛÛ¶Û Ü¾Û. ÁõÛ›÷éÉÛé ¶Ûà˜Ûé¶ÛÛ× ÁõÛéïõÛ¨ÛÛé ïõýÛÛÚ Ðü©ÛÛ×. ïõÅÛ¾Û 80C Ðéü¥øÇ 
¾ÛÇ©Ûà ïõ¸ÛÛ©Û¶Ûà Áõïõ¾Û ¶Û‘õà ïõÁõÛé. ©Ûé¾Û¶Ûà ïäõÅÛ •ÛóÛéÍÛ …ÛÈÛïõ  ` 5,70,000 ™öé.  7 

 `̀̀̀ 

(1) ¾ÛÛ¶ýÛ ¸ÛóÛéÜÈÛ¦ø¶¤ø º×õ¦ø¾ÛÛ× ïõ¾ÛÙ̃ ÛÛÁõà¶ÛÛé ¸ÛÛé©ÛÛ¶ÛÛé ºõÛÇÛé 24,000 

(2) SBI ¤éø“Û ÍÛéÝÈÛ•ÍÛ Íïõà¾Û¾ÛÛ× ÁõÛéïõÛ¨Û  12,000 

(3) ›ÛÐéüÁõ ¸ÛóÛéÜÈÛ¦ø¶¤ø º×õ¦ø¾ÛÛ× ºõÛÇÛé  25,000 

(4) ¶ÛéÉÛ¶ÛÅÛ ÍÛéÝÈÛ•ÍÛ ÍÛ¤øâÜºõïéõ¤ø (9¾Ûà ËÛé̈ Ûà¾ÛÛ×) ÁõÛéïõÛ¨Û  20,000 

(5) ¼Ûêïõ …Ûéºõ ¼ÛÁõÛé¦øÛ¾ÛÛ×¬Ûà ÅÛàµÛéÅÛà ÐüÛŠÝÍÛ•Û ÅÛÛé¶Û¶Ûà Áõïõ¾Û ¸ÛÁõ©Û          
(` 6,000 ÈýÛÛ›÷ ÍÛÜÐü©Û) 

36,000 

(6) ¸ÛÛéÍ¤ø …ÛéÜºõÍÛ ÍÛéÝÈÛ•ÍÛ ¼Ûêïõ ”ÛÛ©ÛÛ¾ÛÛ× ¾ÛæïéõÅÛ Ü¦ø¸ÛÛé¡öà¤ø¶Ûà Áõïõ¾Û  10,000 

(7) ¼ÛÛÇïõÛé¶ÛÛ œ÷ÈÛ¶ÛÈÛà¾ÛÛ ¸ÛóàÜ¾ÛýÛ¾Û¶Ûà ˜ÛæïõÈÛéÅÛ Áõïõ¾Û 15,000 

(8) ªÛ¨Û ¼ÛÛÇïõÛé¶Ûà ¤ÕøýÛæÉÛ¶Û ºõà ˜ÛæïõÈÛéÅÛ (þùÁéõïõ ¼ÛÛÇïõþùà¥ø ` 10,000 ÅÛé”Ûé) 30,000 

  Mr. Rajesh has made the following investments during the previous year 2012-13. 

Determine the deduction available Under Section 80C. His total gross income is          

` 5,70,000. 

 `̀̀̀ 

(1) Employee’s own contribution to recognized Provident Fund. 24,000 

(2) Investment in SBI Tax Saving Scheme 12,000 

(3) Contribution to Public Provident Fund 25,000 

(4) Investment in National Savings Certificate (9
th

 Series) 20,000 

(5) Repayment of housing loan taken from Bank of Baroda 

(including interest of ` 6,000) 

36,000 

(6) Deposited in Post Office Savings Bank account 10,000 

(7) Paid insurance premium on children Life Insurance Policy 15,000 

(8) Paid tuition fees for three children (` 10,000 per child) 30,000 

…¬ÛÈÛÛ/OR 

3. (A) ËÛà Ü¾Û©ÛéÌÛ¶Ûà ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà …ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2013-14 ¾ÛÛ¤éø ©Ûé¾Û¶Ûà ‘ïäõÅÛ ïõÁõ¸ÛÛªÛ 
…ÛÈÛïõ’ ¶Û‘õà ïõÁõÛé ƒ  7 

             `̀̀̀ 

(1) 9% ÍÛÁõïõÛÁõà ›Û¾Ûà¶Û•ÛàÁõà…Ûé ¸ÛÁõ¶Ûä× ÈýÛÛ›÷  7,000 

(2) µÛ×µÛÛ¶ÛÛé ïõÁõ¸ÛÛªÛ ¶ÛºõÛé  2,55,000 

(3) ÍÛaøÛ¶ÛÛ µÛ×µÛÛ¶Ûà ”ÛÛé¤ø  12,000 

(4) ¤æ×øïõÛ•ÛÛÇÛ¶Ûà ¾Ûæ¦øà ”ÛÛé¤ø 15,000 

(5) ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶ÛÛé ïõÁõ¸ÛÛªÛ ¾Ûæ¦øà¶ÛºõÛé  20,000 

(6) ¾Ûä×¼Ûˆ¾ÛÛ× ¸ÛÛé©ÛÛ¶Ûà ¾ÛÛÜÅÛïõà¶ÛÛ ¾ÛïõÛ¶Û¶Ûà …ÛÈÛïõ  26,000 

(7) …¾ÛþùÛÈÛÛþù¾ÛÛ× ©Ûé¾Û¶Ûà ¾ÛÛÜÅÛïõà¶ÛÛ ¹ÅÛé¤ø¶Ûà ”ÛÛé¤ø  6,000 

(8) ÈÛ¦øÛ¸ÛóµÛÛ¶Û ÁõÛÌ¤ÖøàýÛ ÁõÛÐü©Û º×õ¦ø¾ÛÛ× þùÛ¶Û  25,000 
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  From the following given information, determine total taxable income of                   

Mr. Mitesh for the assessment year 2013-14. 

 `̀̀̀ 

(1) Interest on 9% Government Securities 7,000 

(2) Taxable Profit from business 2,55,000 

(3) Loss on speculation business 12,000 

(4) Short term capital loss 15,000 

(5) Long term taxable capital gains 20,000 

(6) Income from own’s ownership house at Mumbai 26,000 

(7) Loss on his own’s ownership flat at Ahmedabad. 6,000 

(8) Donation to Prime Minister National Relief Fund 25,000 

 

 (B) ïõÛé̂ ¸Û¨Û ¼Ûé¶ÛÛ Š«ÛÁõÛé ÅÛ”ÛÛé : 4 

  (1) ©Û¼Ûà¼Ûà ÈÛà¾ÛÛ ¸ÛóàÜ¾ÛýÛ¾Û¶Ûà ïõ¸ÛÛ©Û …×•Ûé ïõÅÛ¾Û 80-D ¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé ›÷¨ÛÛÈÛÛé.  

  (2) ¾ÛïõÛ¶Û Ü¾ÛÅÛïõ©Û¶Ûà …ÛÈÛïõ¶ÛÛ ÉÛàÌÛÙïõ Ðéü¥øÇ¶Ûà ”ÛÛé¤ø ¾ÛÛ×¦øà ÈÛÛÇÈÛÛ …¶Ûé …Û•ÛÇ ”Ûễ Ûà ›÷ÈÛÛ 
ÍÛ×¼Û×µÛà …ÛÈÛïõÈÛéÁõÛ¶ÛÛ ïõÛýÛþùÛ¶Ûà ïõˆ ›Ûé•ÛÈÛÛˆ…Ûé ™öé ? 

  (3) ÁõÛœ÷ÈÛ •ÛÛ×µÛà ˆÜîÈÛ¤øà ÍÛéÝÈÛ•ÍÛ Íïõà¾Û Ðéü¥øÇ ÁõÛéïõÛ¨Û …×•Ûé (ïõÅÛ¾Û 80 CCG) ïõ¸ÛÛ©Û¶Ûà 
›Ûé•ÛÈÛÛˆ…Ûé ÍÛ¾Û›ÛÈÛÛé.  

  Write any two answers :  

  (1) State the provisions of Section 80-D regarding deduction for Medical 

Insurance premium. 

  (2) Which are the provisions of Income-Tax regarding set-off and carry forward 

of loss under the heading of “Income from House property” ? 

  (3) Explain the deduction relating to investment under the scheme of Rajiv 

Gandhi Equity Savings Scheme. ( Explain under Section 80 CCG) 

 

 (C) ¶Ûà˜Ûé¶ÛÛ …×•Ûé …ÛÈÛïõÈÛéÁõÛ ïõÛýÛþùÛ¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé ›÷¨ÛÛÈÛÛé : (ïõÛé̂ ¸Û¨Û ¼Ûé) 3 

  (1) ïõÅÛ¾Û 80 RRB Ðéü¥øÇ ¸Ûé¤ø¶¤ÕøÍÛ ¸ÛÁõ ¾ÛÇ©Ûà ÁõÛéýÛÅ¤øà …×•Ûé ïõ¸ÛÛ©Û. 

  (2) Š˜˜Û …½ýÛÛÍÛ …¬Ûë ÅÛàµÛéÅÛ ÅÛÛé¶Û ¸ÛÁõ ˜ÛæïõÈÛéÅÛ ÈýÛÛ›÷ ïõÅÛ¾Û 80 E Ðéü¥øÇ. 

  (3) ïéõ¶®ù ÍÛÁõïõÛÁõ¶Ûà ¸Ûé¶ÉÛ¶Û Íïõà¾Û¾ÛÛ× …Û¸ÛéÅÛ ºõÛÇÛ …×•Ûé ïõ¸ÛÛ©Û ïõÅÛ¾Û 80 CCD. 

  State the provisions of Income-tax act regarding following : (any two)  

  (1) Royalty received on Patent’s section 80 RRB. 

  (2) Payment of Interest on Loan taken for Higher Education Section 80 E. 

  (3) Contribution given in Central Government Pension Scheme Section 80 CCD. 
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4. (A) •Ûä›÷ÁõÛ©Û ¾ÛæÅýÛÈÛÜµÛÙ©Û ÈÛéÁõÛ …ÜµÛÜ¶ÛýÛ¾Û 2003 ¸Ûó¾ÛÛ¨Ûé ¶Ûà˜Ûé¶Ûà ÈýÛÛ”ýÛÛ…Ûé ÍÛ¾Û›ÛÈÛÛé ƒ (•Û¾Ûé ©Ûé ¼Ûé) 7 

  (1) µÛ×µÛÛé  

  (2) ÈÛȩ́ ÛÛÁõà 

  (3) ¾ÛÛÅÛ  

  Explain following definition under Gujarat Value Added Tax Act 2003 (any two)  

  (1) Business  

  (2) Dealer  

  (3) Goods 

…¬ÛÈÛÛ/OR 

4. (A) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛé̂ ¸Û¨Û …éïõ¶ÛÛé ›÷ÈÛÛ¼Û …Û¸ÛÛé : 7 

  (1) •Ûä›÷ÁõÛ©Û ¾ÛæÅýÛÈÛÜµÛÙ©Û µÛÛÁõÛ Ðéü¥øÇ ‘¤éø“Û ’éõÜ¦ø¤’ø¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé.  

  (2) ïéõ¶®ùàýÛ ÈÛé̃ ÛÛ¨ÛÈÛéÁõÛ¶Ûà ÅÛÛ“ÛÜ¨Ûïõ©ÛÛ…Ûé ›÷¨ÛÛÈÛÛé.  

  Give answer of any one from the following : 

  (1) Explain the concept of Tax-credit under the head of Gujarat Value Added Tax 

Act. 

  (2) State the characteristics of Central Sales Tax. 

 

 (B) ïõÛé̂ ¸Û¨Û ¼Ûé¶ÛÛ ›÷ÈÛÛ¼ÛÛé ÅÛ”ÛÛé : 4 

  (1) ÍÛÜÈÛÙÍÛ ¤é“Û¾ÛÛ×¬Ûà ïõÁõ¾ÛäÜî©Û¶Ûà ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé.  

  (2) ÍÛÜÈÛÙÍÛ ¤éø“Û¶ÛÛ ïõÁõ¸ÛÛªÛ ¼Û¶ÛÛÈÛ ÍÛ¾Û›ÛÈÛÛé. 

  (3) ÍÛÜÈÛÙÍÛ ¤éø“Û¶Ûà ïõÛýÛÙÈÛÛÐüà ¤æ×øïõ¾ÛÛ× ÈÛ¨ÛÙÈÛÛé.  

  Write any two answers :  

  (1) State the tax free limit from the Service tax. 

  (2) Explain the taxable event of service tax. 

  (3) Describe in short the procedure of service tax. 

 

 (C) ¾ÛÛ•ýÛÛ ¸Ûó¾ÛÛ¨Ûé Š«ÛÁõ …Û¸ÛÛé ƒ (ïõÛé̂ ¸Û¨Û ¼Ûé) 3 

  (1) ÍÛÜÈÛÙÍÛ ¤éø“Û ÅÛÛ•Ûä ¸Û¦ø©Ûà ÐüÛéýÛ ©ÛéÈÛà ªÛ¨Û ÍÛéÈÛÛ…Ûé ›÷¨ÛÛÈÛÛé.  

  (2) ¾ÛæÅýÛÈÛÜµÛÙ©Û ÈÛéÁõÛ¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé.  

  (3) ¾ÛæÅýÛÈÛÜµÛÙ©Û ÈÛéÁõÛé ÅÛÛ•Ûä ¶Û ¸Û¦ø©ÛÛé ÐüÛéýÛ …éÈÛÛ× ïõÛé̂ ¸Û¨Û ªÛ¨Û ŠþùÛÐüÁõ¨ÛÛé …Û¸ÛÛé.  

  Give answer as directed (any two)  

  (1) State any three services on which service tax are levied. 

  (2) Explain the meaning of Value Added Tax. 

  (3) Give any three illustrations on which Value Added Tax (VAT) are not levied. 
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5. ¶Ûà˜Ûé¶ÛÛ þùÁéõïõ ¸Ûé¤øÛ ¸ÛóÊ¶ÛÛé¶ÛÛ …éïõ ïõÁõ©ÛÛ× ÈÛµÛä ›÷ÈÛÛ¼ÛÛé …Û¸ÛéÅÛ ™öé. ÍÛÛ˜ÛÛé ›÷ÈÛÛ¼Û ¸ÛÍÛ×þù ïõÁõÛé. ›÷ÄõÁõà 
•Û¨Û©ÛÁõà ïéõ ÍÛ¾Û›æ÷©Ûà þùÉÛÛÙÈÛÛé  ƒ 14 

 In each of the following sub-questions, more than one answer is given. Select the correct 

answer. Show the necessary calculation or explanation. 

 (1) µÛ×µÛÛ ïéõ ÈýÛÈÛÍÛÛýÛ¶Ûà …ÛÈÛïõ¶ÛÛ ¾Û¬ÛÛÇÛ Ðéü¥øÇ ¶Ûà˜Ûé ›÷¨ÛÛÈÛéÅÛ ”Û˜ÛÛÙ…Ûé ¸Ûíéïõà ïõýÛÛé ”Û˜ÛÙ ¾Û›÷Áéõ 
¾ÛÇÈÛÛ¸ÛÛªÛ ¶Û¬Ûà ? 

  (A) –ÛÛÅÛ”ÛÛµÛ 

  (B) ÍÛÛ¾ÛÛ¶ýÛ …¶ÛÛ¾Û©Û  

  (C) µÛ×µÛÛ¶ÛÛ Í¤øÛéïõ¶Ûä× ÈÛà¾ÛÛ ¸ÛóàÜ¾ÛýÛ¾Û  

  (D) ÈÛé̃ ÛÛ¨Û ÈÛéÁõÛé 

  Out of the following expenses, which expense is not admissible under the head of 

‘business or profession income. 

  (A) Bad debts 

  (B) General Reserve 

  (C) Insurance premium of business stock 

  (D) Sales tax 

 

 (2) µÛ×µÛÛ ïéõ ÈýÛÈÛÍÛÛýÛ¶Ûà …ÛÈÛïõ¶ÛÛ ¾Û¬ÛÛÇÛ Ðéü¥øÇ ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛÛé ”Û˜ÛÙ ¾Û›÷Áéõ ¾ÛÇÈÛÛ¸ÛÛªÛ ™öé ?  

  (A) ïõÁõÈÛéÁõÛ¶Ûà ›Ûé•ÛÈÛÛˆ 

  (B) ÍÛ×̧ ÛÜ«Û ÈÛéÁõÛé 

  (C) ¾Ûæ¦øà”Û˜ÛÙ 

  (D) ÈýÛÈÛÍÛÛýÛ ÈÛéÁõÛé 

  Which of the following expense is admissible under the head of ‘Business or 

Profession Income’. 

  (A) Provision for Income tax 

  (B) Wealth tax 

  (C) Capital expense 

  (D) Professional tax 
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 (3) Ü¾ÛÅÛïõ©Û¶ÛÛé µÛ×µÛÛ ïéõ ÈýÛÈÛÍÛÛýÛ¶ÛÛ Ðéü©Ûä ¾ÛÛ¤éø 180 ÜþùÈÛÍÛ ïõÁõ©ÛÛ× …Ûé™öÛ ÍÛ¾ÛýÛ ¾ÛÛ¤éø Š¸ÛýÛÛé•Û ¬Û©ÛÛé 
ÐüÛéýÛ ©ÛÛé –ÛÍÛÛÁõÛé ______. 

  (A) ¸ÛæÁéõ¸ÛæÁõÛ …Û”ÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø ¾Û›÷Áéõ ¾ÛÇé ™öé.  

  (B) Ü¶ÛýÛ©Û þùÁõ¶ÛÛ 50% ¾Û›÷Áéõ ¾ÛÇé ™öé.  

  (C) Ü¶ÛýÛ©Û þùÁõ¶ÛÛ 75% ¾Û›÷Áéõ ¾ÛÇé ™öé.  

  (D) ¾Û›÷Áéõ ¾ÛÇ©ÛÛé ¶Û¬Ûà.  

  If the asset is utilized less than 180 days for the purpose of Business or profession, 

the depreciation is ______. 

  (A) Allowed fully for the whole year. 

  (B) Allowed at 50% the prescribed rate. 

  (C) Allowed at 75% the prescribed rate. 

  (D) Not allowed. 

 

 (4) ¶Ûà˜Ûé …Û¸ÛéÅÛ ÜÈÛµÛÛ¶ÛÛé ¸Ûíéïõà ïõýÛä× ÜÈÛµÛÛ¶Û ÍÛÛ˜Ûä× ™öé ? 

  (A) ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶Ûà ¾Ûæ¦øà ”ÛÛé¤ø ¤æ×øïõÛ•ÛÛÇÛ¶ÛÛ ¾Ûæ¦øà ¶ÛºõÛ ÍÛÛ¾Ûé ¾ÛÛ×¦øà ÈÛÛÇÈÛÛ¾ÛÛ× …ÛÈÛé ™öé.  

  (B) ¤æ×øïõÛ•ÛÛÇÛ¶Ûà ¾Ûæ¦øà ”ÛÛé¤ø ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶ÛÛ ¾Ûæ¦øà ¶ÛºõÛ ÍÛÛ¾Ûé ¾ÛÛ×¦øà ÈÛÛÇÈÛÛ¾ÛÛ× …ÛÈÛé ™öé.  

  (C) …×•Û©Û ÈÛ¸ÛÁõÛÉÛ¶Ûà ¾ÛÛé¤øÁõïõÛÁõ¶Ûé ¸Û¨Û ¾Ûæ¦øà Ü¾ÛÅÛïõ©Û •Û¨ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé.  

  (D) µÛ×µÛÛ¶Ûà ¸ÛÛ–Û¦øà¶Ûé ¾Ûæ¦øà Ü¾ÛÅÛïõ©Û •Û¨ÛÈÛÛ¾ÛÛ× …ÛÈÛ©Ûà ¶Û¬Ûà.  

  Which of the following statement is correct ? 

  (A) Long term capital loss can be set-off against short term capital gain. 

  (B) Short term capital loss can be set off against long term capital profit. 

  (C) Motor car for personal use is considered as capital asset. 

  (D) Goodwill of business is not considered as capital asset. 

 

 (5) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ Ü¾ÛÅÛïõ©Û¶ÛÛé ¾Ûæ¦øà-Ü¾ÛÅÛïõ©Û ©ÛÁõàïéõ ÍÛ¾ÛÛÈÛéÉÛ ¬Û©ÛÛé ¶Û¬Ûà ? 

  (A) ¾ÛÛÅÛ¶ÛÛé Í¤øÛéïõ 

   (B) ”ÛÛ¨Û¶ÛÛé ¸Û¤øÛ-Ðüïõ 

  (C) ïõÛȩ́ ÛàÁõÛˆ¤ø  

  (D) ¤éø¶Û¶ÍÛà Ðüïõ  

  Out of the following, which asset is not included as capital asset ? 

  (A) Stock of goods 

  (B) Lease hold rights 

  (C) Copy right 

  (D) Right of Tenancy 
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 (6) Ü¾Û. X …é ©ÛÛ. 31-10-2012 ¶ÛÛ ÁõÛé›÷ ` 9,00,000¾ÛÛ× ÍÛÛé¶ÛÛ¶ÛÛ þùÛ•Ûà¶ÛÛ ÈÛé̃ ýÛÛ. …Û þùÛ•Ûà¶ÛÛ…Ûé 
©ÛÛ. 30-6-1988¶ÛÛ ÁõÛé›÷ ` 64,400 ¾ÛÛ× ”ÛÁõà²Û Ðü©ÛÛ. …Û ÈÛé̃ ÛÛ¨Û¶Ûà Š¸Û›÷¾ÛÛ×¬Ûà ©Ûé¾Û¨Ûé                        
©ÛÛ. 28-2-2013¶ÛÛ ÁõÛé›÷ ` 6,00,000¾ÛÛ× ÁõÐéü¥øÛ¨Û¶Ûä× ¾ÛïõÛ¶Û ”ÛÁõàþéùÅÛ ™öé. ©Ûé¾Û¶Ûà ¸ÛÛÍÛé ÁõÐéü¥øÛ¨Û 
¾ÛÛ¤éø ¸ÛÛé©ÛÛ¶Ûà ¾ÛÛÜÅÛïõà¶Ûä× ¾ÛïõÛ¶Û ¶Û¬Ûà. ¶ÛÛ¨ÛÛïõàýÛ ÈÛÌÛÙ 1988-89 …¶Ûé 2012-13 ¾ÛÛ¤éø¶ÛÛé ÍÛæ̃ Ûïõ…Û×ïõ 
…¶Ûä’õ¾Ûé 161 …¶Ûé 852 ™öé.  

  …ÛïõÛÁõ¨ÛàÈÛÌÛÙ 2013-14 ¾ÛÛ¤éø ïõÁõ¸ÛÛªÛ ¾Ûæ¦øà¶ÛºõÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û •Û¨ÛÛÉÛé ƒ 

  (A) ` 1,86,400 

  (B) ` 5,59,200 

  (C) ` 6,00,000 

  (D) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛé̂  ¶ÛÜÐü 

  On 31-10-2012 Mr. X sold Gold ornaments for ` 9,00,000. The cost of this 

ornaments were ` 64,400 as on 30-6-1988. From amount of this selling, on                      

28-2-2013, he purchased residential house for ` 6,00,000. He has no own 

residential house. The cost inflation Index No. for the financial year 1988-89 and 

2012-13 are 161 and 852 respectively. 

  Taxable capital gain for assessment year 2013-14 is as under 

  (A) ` 1,86,400 

  (B) ` 5,59,200 

  (C) ` 6,00,000 

  (D) None of the above 

 

 (7) …¶ýÛ ÍÛÛµÛ¶ÛÛé¶Ûà …ÛÈÛïõ¶ÛÛ ÉÛàÌÛÙïõ Ðéü¥øÇ ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ …ÛÈÛïõ¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ¬Û©ÛÛé ¶Û¬Ûà ? 

  (A) ›Û¾Ûà¶Û•ÛàÁõà…Ûé¶Ûä× ÈýÛÛ›÷  (B) ÅÛÛé¤øÁõà (Lottery)  

  (C) Ü¦øÜÈÛ¦ø¶¦ø (D) ÈýÛæÐüÁõ˜Û¶ÛÛ ÐüÁõàºõÛˆ 

  From the following, which income is not included in the head of ‘Income from 

other sources’ ? 

  (A) Interest on securities (B) Lottery 

  (C) Dividend (D) Crossword puzzles. 

 

 (8) ¸ÛÛé©ÛÛ¶ÛÛ ¶ÛÛ¾Ûé ”ÛÛéÅÛÛÈÛéÅÛ ¸ÛÛéÍ¤ø …ÛéÜºõÍÛ ¼Û˜Û©Û ”ÛÛ©ÛÛ ¸ÛÁõ ÈÛµÛä¾ÛÛ× ÈÛµÛä ÈÛÛÜÌÛÙïõ _______ ÈýÛÛ›÷ 
ïõÁõ¾Ûäî©Û ¾ÛÇé ™öé.  

  The maximum annual interest received on Post Office Savings account opened own 

name will be tax free upto ______ 

  (A) ` 7,000 (B) ` 10,500 

  (C) ` 3,500 (D) ` 2,500 
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 (9) ïõÅÛ¾Û 80 DD Ðéü¥øÇ 80% ¬Ûà …Ûé™öà …¸Û×•Û …ÛÜËÛ©Û¶Ûà ©Û¼Ûà¼Ûà ÍÛÛÁõÈÛÛÁõ …×•Ûé ÈÛµÛä¾ÛÛ× ÈÛµÛä 
______ ïõ¸ÛÛ©Û ¼ÛÛþù ¾ÛÇÉÛé.  

  Under section 80 DD, less than 80% severe disability dependent person treatment 

can get ______ deduction. 

  (A) ` 1,00,000 (B) ` 80,000 

  (C) ` 60,000 (D) ` 50,000 

 

 (10) …ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2013-14 ¾ÛÛ× ËÛà A ¶Ûà ïäõÅÛ •ÛóÛéÍÛ …ÛÈÛïõ ` 2,60,000 Ðü©Ûà. ÈÛÌÛÙ þùÁõ¾ýÛÛ¶Û 
©Ûé¾Û¨Ûé ¾Ûé¦øàîÅÛé̂ ¾Û ÈÛà¾ÛÛ ¸ÛóàÜ¾ÛýÛ¾Û¶ÛÛ ` 10,000 ˜ÛæïõÈýÛÛ Ðü©ÛÛ. ©Ûé¾Û¨Ûé ¾ÛÛ¶ýÛ µÛÛÜ¾ÛÙïõ ÍÛ×Í¬ÛÛ¶Ûé       
` 20,000 ¶Ûä× þùÛ¶Û …Û¸ÛéÅÛ ™öé. …ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2013-14 ¾ÛÛ¤éø ©Ûé¾Û¶Ûà ïõÁõ¸ÛÛªÛ …ÛÈÛïõ _____ 
¬ÛÉÛé.  

  (A) ` 2,40,000 (B) ` 2,20,000 

  (C) ` 2,30,000 (D) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà ïõÛé̂  ¶ÛÐüá 

  The total gross income of Shri A was ` 2,60,000 for the assessment year 2013-14. 

He has paid ` 10,000 for Mediclaim Insurance Premium during the year. He has 

given donation of ` 20,000 for approved religions institution. His taxable income 

for the assessment year 2013-14 will be _____. 

  (A) ` 2,40,000 (B) ` 2,20,000 

  (C) ` 2,30,000 (D) None of the above 

 (11) ÈÛÜÁõÌ¥ø ¶ÛÛ•ÛÜÁõïõ …éÍÛéÍÛà ¾ÛÛ¤éø ¾Ûé¦øàîÅÛé̂ ¾Û ÈÛà¾ÛÛ ¸ÛóàÜ¾ÛýÛ¾Û …×•Ûé ÈÛµÛä¾ÛÛ× ÈÛµÛä _________¶Ûà 
ïõ¸ÛÛ©Û ¼ÛÛþù ¾ÛÇÉÛé  

  The maximum deduction available to senior citizen assessee for Mediclaim 

Insurance Premium will be _______. 

  (A) ` 5,000 (B) ` 10,000 

  (C) ` 15,000 (D) ` 20,000 

 

 (12) •Ûä›÷ÁõÛ©Û ¾ÛæÅýÛÈÛÜµÛÙ©Û ÈÛéÁõÛ (VAT) ïõÛýÛþùÛ ¾Ûä›÷¼Û Š˜˜Ûïõ ïõÁõ ½ÛÁõÈÛÛ ¾ÛÛ¤éø ÈÛȩ́ ÛÛÁõà¶Ûä× ¤ø¶ÛÙ …ÛéÈÛÁõ 
_________ ÐüÛéÈÛä× ›Ûé̂ …é.  

  (A) ` 10 ÅÛÛ”Û¬Ûà …Ûé™ä×ö (B) ` 40 ÅÛÛ”Û¬Ûà …Ûé™ä×ö 

  (C) ` 50 ÅÛÛ”Û¬Ûà …Ûé™ä×ö (D) ` 50 ÅÛÛ”Û¬Ûà ÈÛµÛä 

  The turnover of the trader for lumpsum payment of tax under Gujarat Valued 

Added Tax (VAT) should be ______. 

  (A) Less than ` 10 lakhs (B) Less than ` 40 lakhs 

  (C) Less than ` 50 lakhs (D) More than ` 50 lakhs 
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 (13) ÍÛÜÈÛÙÍÛ ¤éø“Û ïõÛýÛþùÛ ¸Ûó¾ÛÛ¨Ûé ïäõÅÛ ïõÁõ¸ÛÛªÛ ÍÛéÈÛÛ…Ûé¶Ûà ïõÁõ¾Ûäî©Û ¾ÛýÛÛÙþùÛ ________ ™öé.  

  According to service tax act, the tax free limit of total taxable services is ______. 

  (A) ` 2,00,000 (B) ` 2,50,000 

  (C) ` 5,00,000 (D) ` 10,00,000 

 

 (14) …ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2013-14 ¾ÛÛ¤éø ÍÛÜÈÛÙÍÛ ¤éø“Û ïõÛýÛþùÛ¶ÛÛé …ÍÛÁõïõÛÁõïõ þùÁõ ________ ™öé. 

  The effective rate of service tax act for the assessment year 2013-14 is ______ 

  (A) 12%  (B) 12.36% 

  (C) 10.30% (D) 12.24% 

___________ 
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